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H—/N—l2, EDPythonx 27 U 7+ 2BET %,

from xmlrpc.server import SimpleXMLRPCServer
2 import _Luplo(;,ﬂ S sp
3 from Ana import Flttlhu _GetMean

with SimpleXMLRPCServer(('172.27.217.44",

Pyhton!'

dd calc(x, y):
urn x + y

Hoh Lo, EHBEEETEL THL

Ll Fitting(direction):

Fitting GetMean(direction)

B & B 5k fRFfE (s)

er.register function(hello , "hellc
or_function(add calc , ‘add")
S ~ function(call Fitting,"fit")

")
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ve forever() “
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rpc_server.py -




tE = 547> FMAllc. EDOPython2 2 U 7 R & RET 5.
(@

import xmlrpc.client

) as proxy:

print(proxy.hello())

pr‘int'.’\';_H'l'_').:-:_‘-:.f . .5'.'“'_1!'_1( 1UU f'UU )) rp C_C | I e n t. py

print(proxy.fit("z")
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1. $ python3 rpc_server.pyC7/ A7 5 LA2ETEIH 5,
—  Z{mOK

31$ python3 rpc_server.py
Waitting...

_1031% python3 rpc_server.py

Waitting...
- [31/0ct/2022 15:13:34] "POST / HTTP/1.1" 200 -
- [31/0ct/2022 15:13:34] "POST / HTTP/1.1" 200 -
FCN=7.79905 FROM MIGRAD STATUS=CONVERGED 65 CALLS 66 TOTAL
EDM=7.53848e-09

STRATEGY= 1 MATRIX ACCURATE

EXT PARAMETER STEP FIRST
NO. NAME VALUE SIZE DERIVATIVE
1 Constant 5.40131e+02 1.88505e+01 2.17800e-02 .71472e-06
2 Mean 1.05324e-01 1.08210e-04 1.53887e-07 .49160e-01
3 Sigma 3.81228e-03 8.03720e-05 7.96565e-06 .02617e-02
in <TCanvas::Print>: pdf file test.pdf has been created
- [31/0ct/2022 15:13:35] "POST / HTTP/1.1" 200 -
220 1298
200 9.851
0.006466
180 34.09/20
160; 0.02554
[ 165.9+6.0
\ [/ + % [/ % 140 9.8510.000
[/ ﬁ A Y D T L \ G) 120: igma 0.006079 +0.000136

_H_ — /N — T/HJJ mo;

HF—N—@LAT—ZHEL, o

i | |
88 981 982 983 9.84 9.85 9.86 9.87 988 989 99

7747 MMl
(5FHPC)

2. $ python3 rpc_client.py CH — /N — I ZEFINT
W5 B & (£

hikaru@hikaru:~$ python3 rpc_client.py
Pyhton!

Hello,
300
9.850572973236224

import xmlrpc.client

1t.ServerProxy('http://172.27.217.44:8000/" ) as proxy:

print{plme.Hu--U{i?

1dd(100, 200))

print(proxy.:
print{panm.‘_Ly 2
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1. xmlrpc
2. json-rpc
3. Mprpc
4. gRPC
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‘GRPC

A high performance, open source universal RPC framework

Learn more

Get started!

Go C++  Java Python

Introduction to gRPC

An introduction to gRPC and protocol buffers.

This page introduces you to gRPC and protocol buffers. gRPC can use protocol buffers as both its Interface Definition
Language (IDL) and as its underlying message interchange format. If you're new to gRPC and/or protocol buffers, read this!
If you just want to dive in and see gRPC in action first, select a language and try its Quick start.

Overview

In gRPC, a client application can directly call a method on a server application on a different machine as if it were a local
object, making it easier for you to create distributed applications and services. As in many RPC systems, gRPC is based
around the idea of defining a service, specifying the methods that can be called remotely with their parameters and return
types. On the server side, the server implements this interface and runs a gRPC server to handle client calls. On the client
side, the client has a stub (referred to as just a client in some languages) that provides the same methods as the server.

gRPC Server Ruby Client

C++ Service

,0/
or,
© Response(s)

Android-Java Client

Quick start

This guide gets you started with gRPC in Python with a simple working example.

Prerequisites

e Python 3.5 or higher
e pip version 9.0.1 or higher

If necessary, upgrade your version of pip :

Basics tutorial

A basic tutorial introduction to gRPC in Python.

This tutorial provides a basic Python programmer’s introduction to working with gRPC.
By walking through this example you'll learn how to:

e Define a service in a .proto file.
e Generate server and client code using the protocol buffer compiler.
e Use the Python gRPC API to write a simple client and server for your service.

It assumes that you have read the Introduction to gRPC and are familiar with protocol buffers . You can find out more in
the proto3 language guide % and Python generated code guide .
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first_grpc.proto | =
1. .proto7 71 ILT
/ \ compile BEDAVI—TI1—RAEEET Do

first grpc_pb2z_grpc.py [first_grpc_pb2.py 2. BEIERENET 71 LERWTER
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import
(include)
riken_intt_sever.py riken_intt_client.py
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first_grpc.proto

first_grpc.proto X

Users > hikaru > Desktop > INTT > test_bench > 2022_1213_gRPC > helloworld first_grpc.proto
1
2
3 syntax = "proto3";
4
5 service riken_intt{
6
7 rpc Check_communication( CheckRequest ) returns ( CheckReply ){}
8 rpc fitting_for_cosmic_ray ( Fitting_Request ) returns ( Fitting_Reply) {}
9
10 }
11
12 message CheckRequest{
13
14 string request_communication_status = 1;
15
16 }
17
18 message CheckReply{
19
20 string reply_communication_status = 1;
21
22 }
23
24
25 message Fitting_Request{
26
27 string input = 1;
28 }
29
30
31 message Fitting_Reply{
32
33 float mean = 1;
34 float mean_error = 2:
35 float reduced_chi2 = 3;
36

37 }



riken_Intt_sever.p

4

5

. . . . . . 6

class riken_intt(first_grpc_pb2_grpc.riken_inttServicer): B
def Check_communication(self, request, ): 9
print(request.request_communication_status) 10

return first_grpc_pb2.CheckReply(reply_communication_status= " GOOD !!")
def fitting_for_cosmic_ray(self, request, )i

aa

ROOT.gStyle.SetOptFit(1111)

datadir = "/mnt/c/Users/HikaruImai/Desktop/INTT/cosmic_ray/data/cosmic_ray_per_3@0min/"
flist_name = "LoopDataSet_DACscan_1129 pro.txt"

print(request.input)

number_of_muon_list = call_count_cosmic_ray(datadir , flist_name )

print( "muon = ",number_of_muon_list)

graph = ROOT.TGraphErrors()

graph.SetMarkerStyle(20)

service riken_intt{

rpc Check_communication( CheckRequest ) returns ( CheckReply ){}
rpc fitting_for_cosmic_ray ( Fitting_Request ) returns ( Fitting_Reply) {}

} .proto

def serve():

port = '8000'
server = grpc.server(futures.ThreadPoolExecutor(max_workers=10))

first_grpc_pb2_grpc.add_riken_inttServicer_to_server(riken_intt(), server)
server.add_insecure_port('[::]:"'+port)

server.start()

¢ = ROOT.TCanvas("cc","cc",1000,1000)

print("server started")

index = 0 server.wait_for_termination()
for num in number_of_muon_list:
print("num = " , num)
graph.SetPoint(index, index + 1 , num ) if __name_ == '_main_ ':
graph.SetPointError( index , @, math.sqrt( num ) )
index = index + 1
serve()

pol® = ROOT.TF1("pol@","pol0",0,1)
pol@.SetParameters(0,600)
graph.Fit( "pole@","Q")

mean = pold.GetParameter(0)
mean_error = pol@.GetParError(0)
chi2 = pol@.GetChisquare()
dof = pol@.GetNDF()
graph.Draw("AP")

print(mean)

print(mean_error)

reduced_chi2 = chi2/dof

print(reduced_chi2)

c.Print("fit.pdf")

return first_grpc_pb2.Fitting_Reply(mean = mean , mean_error=mean_error,reduced_chi2=reduced_chi2 )

riken_intt_sever.pyT
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riken_intt_client.py

1

2 import fffét_grpc_pbz

3 import first_grpc_pb2_grpc

4

5 def run():

6

7 server_IP_address = "172.27.217.44"

8 port = "8000"

9 with grpc.insecure_channel(server_IP_address+port) as channel :

10 stub = first_grpc_pb2_grpc.riken_inttStub(channel)

11 response = stub.Check_communication( first_grpc_pb2.CheckRequest (request_communication_status="Hello!") )
12 fitting_result = stub.fitting_for_cosmic_ray(first_grpc_pb2.Fitting_Request(input="Fitting by pol0"))
13 print(response)

14 print(fitting_result.mean,fitting_result.mean_error,fitting_result.reduced_chi2)

15

16 if _name__ == '__main__"':

17 run()

18
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python3 ITLG—‘II mtt ser! ;w'
. | l . |
riken 1lttF[EHP CP CH RIKE! TT/I $ python3 riken_intt_server.py
E1213 l :48:22.9373 f"CC 438 socket utw] _common_pos ix.cc: “J “check for \O REUSEPORT: UNKNOWN:Protocol not available {syscall:"getsockopt(S0_REUSEPORT)", os_error:"Protocol not available", e
rrno:92, crea tnd t1n :12022-12-13T15:48:22.9371869+09:00"
server btd!tf:d
Hello!, I am from Hikaru PC
F1ttwng by pole
FT‘F!\I sult-
erver side) e
450-"‘1 84
20416864
f has been created

[hikaru@hikaru helloworld]$ python3 riken_1intt client.py

reply communication_status: " GOOD !!" i 2indf  31.87/26
2 Prob 0.1975
Mean = 631.4122314453125 +- 4.835869789123535 F P 6914 x48%
reduced ch1i2 = 1.2257617712020874 680
[hikaru@hikaru helloworld]$ python3 riken_1intt_client.py ool
reply_communication_status: " GOOD !'!" E “ l ‘
S0 || l ]
Mean = 631.4122314453125 +- 4.835869789123535 ook (|| | H | ‘
reduced ch12 = 1.2257617712020874 :
- 600,
HHELS i
9347~ — H-—N :
< o
fitting
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